* %

Aftrekken

Oefening 1 Oefening 2
1. 9.759 - = 1.026 1. 6307 - = 5.179
2. 9.368 - = 6.012 2. 9997 - = 3.031
3. 8421 - = 921 3. 5.097 - = 2.115
4. 6.464 - = 570 4. 6.148 - = 5.142
5. 7583 - = 104 5. 7614 - = 1.490
6. 7.921 - = 3.450 6. 3.505 - = 1111
e _ N e .
e e Cewn i
9. 6774 - = 2.017 9. 8655 - = 5.466
10, 7.107 - = 4.826 10, 4.747 - = 3.044
Oefening 3 Oefening 4
1. 4.893 - = 1.363 1. 8349 - = 3.826
2. 8432 - = 3.307 2. 8813 - = 6.384
3. 6474 - = 2.383 3. 8.864 - = 5.066
4. 6.656 - = 2.769 4. 5470 - = 760
5. 4605 - = 2.206 5. 7282 - = 6.040
6. 4.067 - = 2328 6. 4.654 - = 1.546
7. 1988 - = 5.930 7. 4.650 - = 791
8. 3.899 - = 513 8. 7.889 - = 3.045
9. 7.841 - = 2971 9. 7419 - = 126
0. 4082 - = 479 0. 6295 - = 2.118
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Welk getal ontbreekt t/m 10.000? [1] | ANTWOORDEN *

Aftrekken

Oefening 1 Oefening 2

1. 9.759 - 8.733 = 1.026 1. 6307 - 1.128 = 5.179
) 9368 - 3 356 .......... = 6.012 ) o197 - 6766 .......... = 3.031
s sa21 - 7500 = a2 s 5007 - 282 = 2115
i acs - 5894 --------- = 570 4 6148 - IOO6 ---------- = 5.142
5. 7583 - 7.479 = 104 5 7614 - 6.124 = 1.490
6. 7921 - 4.47| = 3.450 6. 3505 - 2.394 = 1.111
7. 8.418 - 8.348 = 70 7. 8.450 - 1.743 = 6.707
8. 9417 - 5.367 = 4.050 8. 6423 - 5.202 = 1.221
9. 6.774 - 4.757 = 2.017 9. 8.655 - 3.189 = 5.466
Lo 228’ .......... o e ,703 ........... o
Oefening 3 Oefening 4

1. 4893 - 3.530 = 1.363 1. 8349 - 4.523 = 3.826
v 5,25 ........... o e 2"29 ......... o
s 64t - #09! .......... = 2383 S ssed - 3798 ......... = 5.066
4 6656 - 3887 = 2769 4 5470 - w70 = 760
5. 4605 - 2.399 = 2.206 5. 7282 - .242 = 6.040
6. 4.067 - 1.739 = 2328 6. 4.654 - 3.108 = 1.546
7. 7988 - 2.058 = 5.930 7. 4650 - 3.859 = 791
8. 3.899 - 3.386 = 513 8. 7.889 - L.844 = 3.045
9. 7.841 - 4.870 = 2971 9. 7419 - 7.293 = 126
10. 4.082 - 3.603 = 479 10. 6.295 - L.77 = 2.118
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